db
=
N
H
Xt

NKBSEEFINRGRIESE

RN4F4818L55W4F9R30BET

== S EEES




1. BXOHR

S S L 8
= 15 W g | ARk
O b=
R 18 7K = 169,345 n 177,980 m A 8635 m AB510 %
1 HOBEHBNIBKE 28224 m 29,663 M A 1,439 m A 510 %
1 BEBSOWNIBKS 925 972 m A A7 M A 508 %
£ £ s # 1,181 1,175 6 & 051 %
%W}ﬁ"ﬁégﬁgﬁ 5 3 o 4000 %




2. FEDORR

(1) IRFHIURAR U2

I A CHERDA. 81 B, %)
B B FEIREE 17558 WiTHR

TKESEINT 217,221,000 122,522,646 56.4
=G 52,210,000 25,161,004 482
TKEEAR 52,209,000 25,161,004 482

Z DB N 1,000 0 0.0
=E3I NG 165,011,000 97,361,642 590
fhREtEEE 114,486,000 97,337,742 85.0
RBAISERA 50,520,000 0 0.0
SHERNRUOHITEERENE 1,000 0 0.0

HEUN T 4,000 23,900 5975

x B CHERDA. 81 B, %)

B B FEIREE 17558 WiTR

TKESEER 224,257,000 27,076,869 121
SEER 188,908,000 12,784,844 6.8
BRE 8,298,280 2,239,165 270
WIBIRE 39,396,720 6,113,447 155
wiRE 22,488,000 4,432,232 197
BMERE 118,705,000 0 0.0
ZOMDEEER 20,000 0 0.0
SENER 27,799,000 11,708,337 421
SINNBROTEEERIRES 22,719,000 11,708,337 515
M= 80,000 o) 0.0
SHER RO EER 5,000,000 0 0.0
SSNEIEPS 7,440,000 2,583,688 34.7
ZDIIFRIER 7,440,000 2,583,688 34.7
FineE 110,000 0 0.0
TiRE 110,000 0 0.0




(2) BARBIRARUZH

I A CHERDA. 81 B, %)
B B FEIREE 175 %8 WiTR
BABINA 122,200,000 800,000 07
¥E 30,000,000 0 0.0
TEE 30,000,000 0 0.0
HEE 90,000,000 0 0.0
HEE 90,000,000 0 0.0
B8BERUDEBE 2,200,000 800,000 364
818s 2,000,000 800,000 400
papiskry 200,000 0 0.0
p2un] CHERDA. 81 B, %)
B B FEIREE 175 %8 WiTR
=Ny 173,492,000 85,629,405 494
BERURE 1,859,000 0 0.0
TNKEm=RERE 1,859,000 0 0.0
TEBESEE 171,633,000 85,629,405 499
TEEEER 171,633,000 85,629,405 499




